
Fitting instructions  |  Premium Canopy Roof Vent

CP0308   |   Date: 13 Feb 2020   |   Issue number: 1   |   Page: 1 of 6

Part number:  

Installation time:  0.5 hours

� � � � � � � � � � � 	 
 � � � 
 
 � �� � � � � � � � � � � � 	 � � � � � � � � � 
 � � � � � � � � � � � � � � � � 
 � �� � � � � � � � � � � � � � � � � � �� � � � � � � � � �  � ! " � � #
$ % & ' ( ) * + $ & ( , % - , . / % % 0 1 . $ 2 % ) , 3 4 5 6 6 7 8 9 : ; < 7 = 9 ; > > : 7 =? @ = A B 7 @ 8 C D > E 8 ; F 7 G F C ; D

H I J K L M N O P Q R O L S M N R J P I T Q U U V W I T S P I L M N O J U U J O L S M XY Z O L N N O P S M [ U V P I R S \ \ I M K I K O ] J O L M N O J U U J O L S M L N R S M K Q R O I K W V J M J Q O ] S P L ^ I K K I J U I P XY _ ] L N ` P S K Q R O \ Q N O W I L M N O J U U I K I a J R O U V J N N ` I R L T L I K L M O ] I N I L M N O P Q R O L S M N X b J L U Q P IO S K S N S \ J V P I N Q U O L M L \ ` P S ` I P T L O J M K c S P P I O I M O L S M c T J L U Q P I S T R S \ ` S M I M O N XdImportant



CP0308   |   Date: 13 Feb 2020   |   Issue number: 1   |   Page: 2 of 6

Supplied parts.

Roof Vent 

x 1 

Vent Shaft

x 1
M5 Flat Washer

x 6

M5 Nylock Nut

x 6 

Parts

Spanner 8mm

Torque wrench - 0-20Nm

Required tools.

Jig Saw
Drill & Drill Bits:

Ø6mm, Ø10mm
Non permanent marker

Socket 8mm 

Extension Bar & Ratchet

Knife

ScissorsMasking Tape

Check the contents of the kit prior to fitment. If the kit is incomplete or if any items are damaged, they must be replaced using 

the specified components. 



CP0308   |   Date: 13 Feb 2020   |   Issue number: 1   |   Page: 3 of 6

Locate the 4 indents inside the canopy shell.

Drill the 4 holes with 12mm Dia drill bit.

Installation instructions.

Required tools: Drill & 12mm Drill bit.

2.

1. 

 

Required tools: Jig Saw, Straight edge, Masking Tape, Pen.

Choose the left or right side of the car to fit the Roof

Vent.

Step 1.

Step 3.

Step 2.

 

1. 

Inside the canopy remove the section of the roof liner

using a knife and following the line eatched in the liner

as shown.

2. 

 

Required tools: Knife.

CUT LINE

12mm DIA in 4 places

VIEW LOOKING UP INSIDE CANOPY

VIEW LOOKING UP INSIDE CANOPY

TOP OF THE CANOPY

FRONT

DRAW LINE

TAPE

HOLES

FRONT

FRONT

Join the holes with lines on top of the masking tape as

shown.

Cut along the lines with Jig Saw.3.

On the top of the canopy, use masking tape to protect

the painted surface along the path where the jig saw will

travel.

1.

2. 

 



Place the Roof Vent on the canopy as ahown. 

Place the Vent Shaft inside the canopy over the 6 studs

from the vent.

CP0308   |   Date: 13 Feb 2020   |   Issue number: 1   |   Page: 4 of 6

Installation instructions.

Required tools: Spanner 8mm.

1. 

Secure the vent with 6 M5 washers and Nuts. 2. 

Tighten the M5 Nylock nuts to torque 5Nm. 3. 

1. 

Place the Paper Drill Template on top of canopy aligning

with the cut-out and center punch the 6 hole locations.

Step 4.

Step 6.

Step 5.

 

1. 

Drill the 6 locations with 6mm Dia drill bit.2. 

 

Required tools: Center Punch, Drill and 6mm Dia drill bit.

6mm DIA in 6 Places

ROOF VENT

M5 NUT

M5 WASHER

VENT SHAFT

DRILL TEMPLATE

FRONT

1

2

VIEW LOOKING UP INSIDE CANOPY

FRONT

FRONT

TOP OF THE CANOPY

TOP OF THE CANOPY



CP0308   |   Date: 13 Feb 2020   |   Issue number: 1   |   Page: 5 of 6

Installation instructions.

BLANK PAGE



CP0308   |   Date: 13 Feb 2020   |   Issue number: 1   |   Page: 6 of 6

Installation instructions.

CANOPY ROOF VENT TEMPLATE

CHECK THE PRINTED TEMPLATE USING RULLER.

ADJUST SCALE USING A PHOTOCOPYING MACHINE

AND REPRINT.

100mm when printed scale 1:1

CUT OUTSIDE ONLY


